ApxaHrenbck (8182)63-90-72
AcraHa (7172)727-132
AcTtpaxaHb (8512)99-46-04
Bapnayn (3852)73-04-60
Benropop (4722)40-23-64
BpsiHck (4832)59-03-52
BnagmBocTok (423)249-28-31
Bonrorpan (844)278-03-48
Bornoraa (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuH6ypr (343)384-55-89

Mo Bonpocam npogax u nogaepxkn obpallanTecs:

MBaHoBo (4932)77-34-06
WxeBck (3412)26-03-58
KasaHb (843)206-01-48
KanuHuhrpap (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
Kupos (8332)68-02-04
KpacHogap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04

Iuneuk (4742)52-20-81

MarnuToropck (3519)55-03-13
Mocksa (495)268-04-70
MypmaHck (8152)59-64-93

HabepexHble YenHbl (8552)20-53-41

HwxHuin Hosropop (831)429-08-12
HoBoky3HeLk (3843)20-46-81
HoBocubupck (383)227-86-73
Omck (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04

MeH3a (8412)22-31-16

Mepmb (342)205-81-47
Pocros-Ha-loHy (863)308-18-15
PsizaHb (4912)46-61-64

Camapa (846)206-03-16
CaHkT-MeTepbypr (812)309-46-40
Capatos (845)249-38-78
Ceactonons (8692)22-31-93
Cumdpeponons (3652)67-13-56
CmoneHck (4812)29-41-54

Coun (862)225-72-31
Craspononb (8652)20-65-13

EavHbin agpec: ccn@nt-rt.ru | http://www.conec.nt-rt.ru

SECTION 8
Foop & BEVERAGE CONNECTORS

CypryT (3462)77-98-35
Teepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbsiHoBCK (8422)24-23-59
Ypa (347)229-48-12
Xabaposck (4212)92-98-04
YensibuHek (351)202-03-61
Yepenosel (8202)49-02-64
Apocnasnb (4852)69-52-93




217

€]

b
4
~
£

l o
!




SAL M8x1/M12x1 Foobp & BEVERAGE CONNECTORS OVERMOULDED

Nomenclature

SAL
Sensor Actor Line

Type
FB = Food & Beverage

Installation size

8 = M8x1
12 =M12x1
Coding
= A-coding
Design
R = Circular connector
Gender
K = Female connector
S = Male connector

Configuration
= Axial
W = Angled

Number of poles

3 = 3-pos.

4 = 4-pos.

5 = 5-pos.
LED-Display

2L =2-LED

3L =3-LED
Cable length

XX = Length [m]
Cable quality

P1 = PP, orange

218 CONEC®



SAL M8x1/M12x1 Foob & BEVERAGE CONNECTORS OVERMOULDED

Product specification

Basic material

Contact CuZn

Contact plating Nickel plated, gold plated
Contact carrier PP GF, UL 94

Overmould TPE

Sealing FPM

Coupling nut/-screw 1.4404 stainless steel

Technical Data

Information on the following pages are basing on below mentioned IEC-standards.

M8 M12
Rated voltage IEC 61076-2-104 IEC 61076-2-101
Current rating IEC 61076-2-104 IEC 61076-2-101
Insulation resistance IEC 60512 IEC 60512-2
Degree of pollution IEC 60664-1 IEC 60664-1
Degree of protection DIN 40050-9 DIN 40050-9
Mating cycles IEC 60512-9a IEC 60512-9a

Recommended torque M8: 0.4 Nm
Recommended torque M12: 0.6 Nm

Technical subject to change without notice.

Vol o
A\ T4

NEC® 219



SAL M8x1/M12x1 Foob & BEVERAGE SOCKETS

Nomenclature

SAL
Sensor Actor Line

Type
FB = Food & Beverage

Installation size

8 = M8x1
12 = M12x1
Coding
= A-coding
Design
F = Socket
Gender
K = Female connector
S = Male connector
Assembly
= Front panel mounting
P = Positioning possible, Front panel mounting
H = Back panel mounting

Number of poles

3 = 3-pos.
4 = 4-pos.
5 = 5-pos.
8 = 8-pos.

Type of Connection/Installation height
XX = Wire length [m]

P55 =Dipsolder 5.5 mm

P12 =Dipsolder 12 mm

Pxx = Installation height one-piece socket

Screw connection

= M8x0.5 by M8x1

= M16x1.5 by M12x1
9 = PGY by M12x1

220 CONEC®



SAL M8x1/M12x1 Foob & BEVERAGE SOCKETS

Product specification

Basic material

Contact CuZn

Contact plating Nickel plated, gold plated
Contact carrier PP GF, UL 94

Sealing FPM

Counter nut 1.4404 stainless steel
Socket housing 1.4404 stainless steel
Sealing compound Polyurethane-resin, UL 94

Technical Data

Information on the following pages are basing on below mentioned IEC-standards.

M8 M12
Rated voltage IEC 61076-2-104 IEC 61076-2-101
Current rating IEC 61076-2-104 IEC 61076-2-101
Insulation resistance IEC 60512 IEC 60512
Degree of pollution IEC 60664-1 IEC 60664-1
Degree of protection DIN 40050-9 DIN 40050-9
Mating cycles IEC 60512-9a IEC 60512-9a

Recommended torque M8: 0.6-0.8 Nm
Recommended torque M12: 1-1.2 Nm

Technical subject to change without notice.

CONEC® 221



M8x1 F&B CONNECTORS OVERMOULDED

~
g
T £
= = =
. 8 = = 58
Female connector axial S ¥ 2 £ §
ey S5 § & 9
S = S S )
~ [S) = ) Q
S & =~ v = B8
2 £ 3§ 5 & 9
. S § 55 §¢
PP, orange, Li12Y9Y Contact assignment = S & O O = Description Part No.
2 SAL-FB-8-RK3-2/P1 42-10468
8
> 3 SAL-FB-8-RK3-3/P1 42-10469
Pin 1 3
Pin 3 3 b 3 0,25
Pin 4 <
>
2 5 SAL-FB-8-RK3-5/P1 42-10470
@ﬁ\ 10 SALFBBRK3I0/P1 4210471
Width across
< flats 9
™ % 2 SAL-FB-8-RK4-2/P1 42-10472
)
ey 3
> 3 SAL-FB-8-RK4-3/P1 42-10473
@8 Pin 1 2
Pin 2]
D Pin 3 H 4 o 3 025
Pin 4 <
2 5 SAL-FB-8-RK4-5/P1 42-10474
I 10 SAL-FB-8-RK4-10/P1 42-10475
Female connector angled
PP, orange, Li12Y9Y
2 SAL-FB-8-RKW3-2/P1  42-10484
=t
> 3 SAL-FB-8-RKW3-3/P1  42-10485
Pin 1 3
Pin 3 3 N 0,25
Pin 4 N <
>
2 5 SAL-FB-8-RKW3-5/P1  42-10486
21
10 SAL-FB-8-RKW3-10/P1 42-10487
[
I
2 SAL-FB-8-RKW4-2/P1  42-10488
8 .
e} Width across
- flats 9 Q
> 3 SAL-FB-8-RKW4-3/P1  42-10489
¢8 Pin 1 8
1 Pin2[1
Pin 3 4 S 3 0.25
D Pin 4 <
2 5 SAL-FB-8-RKW4-5/P1  42-10490
10 SAL-FB-8-RKW4-10/P1  42-10491

222 CONEC® Technical information starting on page 348




M8x1 F&B CONNECTORS OVERMOULDED

=
i g
with LED T £
= = = =
g = X 7 s
Female connector angled, 2-LED 3 $ 2 5 8
. S =
S I
£ £ 3 8 2 ¢
= = =
PP, orange, Li12Y9Y Contact assignment 2 8 & 8§ 8§ = Description Part No.
21 SAL-FB-8-RKW3-
2 S 42-10500
% e, 3 ;”EEF/BP'?'RKW} 42-10501
Width across  pinamm )
flats 9 3 30 3 025
|
IR SAL-FB-8-RKW3-
| ot Pin 3 W 5 42-10502
D 21:5/P1
10 gﬁﬁ'g[jf]'RKW} 42-10503
Female connector angled, 3-LED
PP, orange, Li12Y9Y
21
. 2 g‘L\_LZ'F/BF;?'RKW“' 42-10504
% Poimm SAL-FB-8-RKW4-
Width across ﬁmisl 3 3L3/P1 42-10505
flats 9 in
L 5%y ky b 30 3 0,25
‘ ‘ Qg o O[ o]
Til" b Pin 3 5 g‘L\_EF/BF;?'RKW“' 42-10506
10 gﬁﬁ'g'j's]'RKW“' 42-10507

Technical information starting on page 348

CONEC® 223



M8x1 F&B CONNECTORS OVERMOULDED

T
T £
= = =
: 8 = T 08
Male connector axial S ¥ 2 £ §
o S 8§ © 9
S = S S )
~ [S) = ) Q
S o = r e
< S s X 0
. S 3 85 8¢
PP, orange, Li12Y9Y Contact assignment = S & O O = Description Part No.
2 SAL-FB-8-RS3-2/P1 42-10476
a
> 3 SAL-FB-8-RS3-3/P1  42-10477
Pin 1 3
Pin 3 3 b 3 0,25
Pin 4 <
>
o 5 SAL-FB-8-RS3-5/P1  42-10478
M8x1
1 ; 10 SAL-FB-8-RS3-10/P1 4210479
Lliit Width across
=4 % flats 9 2 SAL-FB-8-RS4-2/P1 42-10480
e} 6}
- T S 3 SALFB-8-RS4-3/P1  42-10481
¢8 Pin 1 8
Pin 2]
Pin 3 HI 4 > 3 0,25
Pin 4 <
o 5 SAL-FB-8-RS4-5/P1  42-10482
10 SAL-FB-8-RS4-10/P1  42-10483
Male connector angled
PP, orange, Li12Y9Y
2 SAL-FB-8-RSW3-2/P1  42-10492
a
> 3 SAL-FB-8-RSW3-3/P1 42-10493
Pin 1 3
Pin 3 3 S 3 025
Pin 4 N <
>
S 5 SAL-FB-8-RSW3-5/P1  42-10494
- 10 SAL-FB-8-RSW3-10/P1 42-10495
27 &
=
] 2 SAL-FB-8-RSW4-2/P1  42-10496
&6 g Width across
- flats 9 2
~ 3 SAL-FB-8-RSW4-3/P1  42-10497
Pin 1 8
Pin 2]
- ad Pin 3 I 4 5 3 025
Pin 4 <
o 5 SAL-FB-8-RSW4-5/P1  42-10498
10 SAL-FB-8-RSW4-10/P1 42-10499

224 CONEC® Technical information starting on page 348




M8x1 F&B CONNECTORS OVERMOULDED

=~
Connecting cable = £
=, —
4 S < 7§
Female connector axial S & 2 s §
. S = )
Male connector axial s £ 8 § g
S I X E — IS}
Q < = S ~ S
. s 385 8¢
PP, orange, Li12Y9Y Contact assignment = S & O O = Description Part No.
SAL-FB-8-RK3-
03 RS3.03/P1 4213198
a 06 SALFB-8-RK3- 4213190
4 ' RS3-0,6/P1
Pin 1 ©
Pin 3 3 b 3 0,25
Pin 4 P<d
> SAL-FB-8-RK3-
= 12 RS315/P1 4213010
Width across
flats 9
SAL-FB-8-RK3-
3 R 4213200
SAL-FB-8-RK4-
03 RS4.0.3/P1 4213201
-
=t 06 SAL-FB-8-RK4- 1213160
S ! .
g Pin 1 2 RS4-0,6/P1
Pin 2]
=4 e 4 g 3 0,25
Width across Pin 4 N
> SAL-FB-8-RK4-
flats 9 .
o ] 12 RS4-1,5/P1 4213202
M8x1
: SAL-FB-8-RK4- 4213203
RS4-3/P1
Female connector angled
Male connector axial
PP, orange, Li12Y9Y
SAL-FB-8-RKW3-
03 RS3.03/P1 4213204
a 06 SALFB-8-RKW3- 1213205
o ' RS3-0,6/P1
Pin 1 ©
Pin 3 3 S 3 0,25
Pin 4 N <
> SAL-FB-8-RKW3-
2 15 RS3-1,5/P1 4213206
SAL-FB-8-RKW3-
3 i 4213207
N E% Width across
flats 9
SAL-FB-8-RKW4-
03 RS4-0.3/P1 4213208
s
(@)
a SAL-FB-8-RKW4-
> 06 42-13209
pin | S RS4-0,6/P1
Pin 2]
, 4 N 3 0,25
- g Width across Pin 3 2
¥ flats 9 Pin 4 > T SAL-FB-8-RKW4- 4213210
[T R G RS4-1,5/P1
;;{ M8x1 SAL-FB-8-RKW4-
3 e 4213211

Technical information starting on page 348

CONEC® 225



M8x1 F&B CONNECTORS OVERMOULDED

=
Connecting cable with LED = S
=, —
4 = < 7§
Female connector angled, 2-fold LED S $ & s §
. S = IS
Male connector axial s S 8 § 17
S o = =2 = 8
- S T S ) S
. ‘H H E
PP, orange, Li12Y9Y Contact assignment = S & O O = Description Part No.
21
aE= 03 g‘L\_S;B}%]F“(W}RS} 4213212
] % Width across
flats § SAL-FB-8-RKW3-RS3-
Pin 1 I . R
0,6 2106/P1 4213213
4 ‘ ‘ ;3 30 3 0,25
SAL-FB-8-RKW3-RS3-
i 15 2115/P1 4213214
. Width across
<+ flats 9
g Foa oo
M8x1
Female connector angled, 3-fold LED
Male connector axial
PP, orange, Li12Y9Y
21
SAL-FB-8-RKW4-RS4-
| -
=l 03 3103/ P1 4213216
] % Width across
flats 9 SALFB-8-RKW4-Rs4
Pin 1 . -rb-0- - - R
Pin2 ] 0,6 3L0,6/P1 4213217
‘ Pin4mm
- 3 30 3 0,25

5 SLBERNRS
Width across h

flats 9

SAL-FB-8-RKW4-RS4-
» 31:3/P1

40
N ———

42-13219

226 CONEC® Technical information starting on page 348




M8x1 F&B SOCKETS

—
O
=
S
g =< § =
Front panel mounting, wire termination S 3 23 8 L
', S5 = ST
[S) = ] Y “Y [
N S & © 8 §
S o > = S S
S &8 s § §&§ S =
S S S g
Female connector, M8x0.5 thread Contact assignment = S & G =X = =X Description Part No.
Max1 8
O >
Pin 1 I 8 o
Wit across 2 Pin 3 3 S 3 & 24 02 SALFB-8FK3-02 4201018
flats 10 © Pin 4 <
——— 2 >
Sealing 8
O
(a)
>
o Pin 1 8
Pin 2] L
Pin 3 W 4 > 3 =z 24 02 SALFB-8-FK4-0,2 42-01019
Pin 4 <
o
M8x0,5 =
£

Technical information starting on page 348

A\ T4

NEC® 227



M12x1 F&B CONNECTORS OVERMOULDED

=~
g
£ £
=~ = = =
: 8 = T 08
Female connector axial S 8 D 5 ¥
o S S IS
S = S S )
~ [S) = ) Q
S o = r e
S £ T S (S
. t 3 Ef 3
PP, orange, Li12Y9Y Contact assignment = S & O O = Description Part No.
2 SAL-FB-12-RK4-2/P1  43-10512
3 SAL-FB-12-RK4-3/P1  43-10513
Pin 1
Pin2[1
oin 3 4 A 250 4 0,34
Pin 4 N
5 SAL-FB-12-RK4-5/P1  43-10514
Width across 10 SAL-FB-12-RK4-10/P1  43-10515
T % flats 14
o 2 SAL-FB-12-RK5-2/P1  43-10516
.
B11
D oin 1 3 SAL-FB-12-RK5-3/P1  43-10517
Pin2 (1
Pin 3 I 5 A 60 4 0,34
Pin 4 N
Pin5 5 SALFB-12-RK5-5/P1  43-10518
10 SAL-FB-12-RK5-10/P1  43-10519
Female connector angled
PP, orange, Li12Y9Y
2 SAL-FB-12-RKW4-2/P1 43-10528
3 SAL-FB-12-RKW4-3/P1  43-10529
Pin 1 I
Pin 2]
i 4 A 250 4 0,34
Pin 4 I
5 SAL-FB-12-RKW4-5/P1  43-10530

27

- “ ﬂ a 10 SAL-FB-12-RKW4-10/P1 43-10531

'

& Width across
. flats 14 2 SAL-FB-12-RKW5-2/P1  43-10532
- B11
D ! 3 SAL-FB-12-RKW5-3/P1  43-10533
Pin 1
Pin 2]
Pin 3 I 5 A 60 4
Pin 4 N
Pin5 M
5 SAL-FB-12-RKW5-5/P1 43-10534
10 SAL-FB-12-RKW5-10/P1 43-10535

228 CONEC® Technical information starting on page 348



M12x1 F&B CONNECTORS OVERMOULDED

~
i IS
with LED T £
- == = =
8 = T 08
Female connector angled, 3-LED S S 2 s 3
R 3 8 § g
S > > B = 8
S £ - § & O
. 5 8 B 5§ § &
PP, orange, Li12Y9Y Contact assignment = S & O O = Description Part No.
g p:
2 g‘L\_LZ'F/BF;}Z'RKW“' 43-11636
pin 1 . SAL-FB-12-RKW4-
_Pin2 ] 3 313/P1 4311637
JPin4mm
% 4 A 30 4 034
Finmm 5 g‘L\_EF/BF;}Z'RKW“' 4311638
27
SI1El 10 FV 4311639
@ % Width across SAL-FB-12-RKW5-
o flats 14 2 312/P] 43-11640
- @11 m
Pin 1 -FB-12- "
rrn2g . 3 SALFBI2-RKWS 4311641
D [ Pinsmm 3L:3/P1
5 A 30 4 034
SAL-FB-12-RKWS5-
Pin5 J 31:5/P1 4311642
SAL-FB-12-RKWS5-
10 E vtk 43-11643

Technical information starting on page 348

CONEC® 229



M12x1 F&B CONNECTORS OVERMOULDED

~
g
g £
= = =
. 8 = = 58
Male connector axial S ¥ 2 £ §
o S 5 & =
S = S S )
~ [S) = ) Q
I & > v = 8
< S s X 0
: S 38 5/8 ¢
PP, orange, Li12Y9Y Contact assignment = S & O O = Description Part No.
2 SAL-FB-12-RS4-2 /P1 43-10520
3 SAL-FB-12-RS4-3/P1 43-10521
Pin 1
Pin 2]
— 4 A 250 4 034
Pin 4 I
5 SAL-FB-12-RS4-5/P1 43-10522
Width across 10 SAL-FB-12-RS4-10/P1  43-10523
o flats 14
) :
| o 2 SAL-FB-12-RS5-2/P1 43-10524
@11
D pin 1 3 SAL-FB-12-RS5-3/P1 43-10525
Pin 2]
Pin 3 5 A 60 4 034
Pin 4 N
Pin5 M
5 SAL-FB-12-RS5-5/P1 43-10526
10 SAL-FB-12-RS5-10/P1  43-10527
Male connector angled
PP, orange, Li12Y9Y
SAL-FB-12-RSW4-2 /
2 P1/A1090 43-14824
S T
Pin 1
Pin 2]
pin > mm 4 A 250 4 0,34
Fin 4 - 5 SALFBI2RSWAS/ oo
P1/A1090
» &
= SAL-FB-12-RSW4-10/
%‘WE“ 10 P1,/A1090 43-14827
SAL-FB-12-RSW5-2/
S 2 43-14828
“‘ Width across P1/A1090
@ flats 14
- @11 SAL-FB-12-RSW5-3/
Pin 1 3 P1/A1090 43-14829
D Pin 2
Pin 3 I 5 A 60 4 034
Pin 4
Pin 5 M SAL-FB-12-RSW5-5/
5 P1,/A1090 43-14830
10 SAL-FB-12-RSW5-10/ 43-14831

P1/A1090

230 CONEC® Technical information starting on page 348



Mi2x1 F&B CONNECTORS OVERMOULDED

=
Connecting cable = £
=, —
4 S < 7§
Female connector axial S & 2 s §
. S = )
Male connector axial s £ 8 § g
S I X = — IS}
_Q S o S ) S
: 5 518 5§
PP, orange, Li12Y9Y Contact assignment = S & O O = Description Part No.
SAL-FB-12-RK4-
03 RS4-0.3/P1 43-10916
SAL-FB-12-RK4-
0,6 43-10917
pin 1 RS4-0,6/P1
Pin 2]
ﬁTm o 3 4 A 250 4 034
Pin 4 N
SAL-FB-12-RK4-
15 RS4-1.5/P1 4310918
§ Width across
flats 14
3 ?{S\EEB/'LZ]'RK“' 43-10919
D
-
SAL-FB-12-RK5-
03 RS5.0.3/P1 43-10920
SAL-FB-12-RK5-
2 ﬁgﬁ Pin 1 06 RS5-0,6/P1 4310921
Width across Pin 2]
flats 14 Pin 3 5 A 60 4 034
Pin 4 N
Pin 5 M SALFB-12-RKS5-
Bl 15 RS5-1,5/P1 43-10922
M12x1
3 ;2;‘_25/'15]“'(5' 43-10923
Female connector angled
Male connector axial
PP, orange, Li12Y9Y
SAL-FB-12-RKW4-
03 RS4-0.3/P1 4310924
SAL-FB-12-RKW4-
0,6 43-10925
pin 1 RS4-0,6/P1
Pin 2]
o 3 4 A 250 4 034
Pin 4 N
SALFB-12-RKW4-
15 RS4-1.5/P1 4310926
SALFB-12-RKW4-
& Width across 3 RS4-3/P1 43-10927
flats 14
SAL-FB-12-RKW5-
D A
03 RS5.0.3/P1 4310928
SAL-FB-12-RKW5-
A 0,6 RS5.0,6. P1 43-10929
g Pin 2 (]
@ Width across Pin 3 5 A 60 4 0,34
flats 14 Pin 4 N
Pin 5 SAL-FB-12-RKW5-
- 15 RS5-1.5/P1 43-10930
M12x1
3 SRQE'_ZB/'LZ]'RKWS' 43-10931

Technical information starting on page 348

CONEC® 231



M12x1 F&B CONNECTORS OVERMOULDED

=
Connecting cable with LED T £
=, —
g S < ¢ S
Female connector angled, 3-LED s g 2 < 8
a S = “
Male connector axial 5 £ 8 2 gy
] & > & = 9
S £ S v O
E 5 8 £ § 8
PP, orange, Li12Y9Y Contact assignment = 8 & 8§ § = Description Part No.
03 g‘L\_SZB}]PZ]'RKW“'RS“' 4311652
Pin 1 SAL-FB-12-RKW4-RS4-
TPn20) o 06 L06 /P 4311653
Pin4mm !
4 A 30 4 034
SAL-FB-12-RKW4-RS4-
15 3115/P1 4311654
o] seross 3 SALFB12-RKWA-RSA 0 10
3L3/P1
SAL-FB-12-RKW5-RS5-
- 03 3103 /P1 43-11656
$ Width across Pnim|_ SAL:-FB-12-RKW5-RS5- ]
2 flats 14 o2 0,6 3L0,6/P1 43-11657
% 5 A 30 4 034
BN pin 3 SAL FB-12-RKW5-RS5-
Pinsm 1,5 3L15/P1 43-11658
M12x1
SAL-FB-12-RKW5-RS5-
3 Eayia 43-11659

232 CONEC® Technical information starting on page 348



M12x1 F&B SockeTs

—
&)
=
~ <z
_ ) o g S < s =
Front panel mounting, wire termination S g 25 §
s £ 83§ %%
o IS o s} 8 g
S &» = & £ 3 S
NS < e} S o -
Es 8§ § g g8
Female connector, M16x1.5 thread Contact assignment = S & 3 = = =X Description Part No.
Mi12xt pn = SAL-FB-12-
] n
‘ Pin 3 W 4 A 250 4 PVC 24 05 FK4-05 43-01018
T Pin 4 I
Width across —__| : &
flats 17 . & !
Sealing i Pin 2] SAL-FB-12-
| | Pin 3 W 5 A 60 4 PVC 24 05 FK5-05 43-01019
Pin 4 N
Pin5 M
-
Pin 1] Pin 5 W SAL-FB-12-
Pin2 MM Pinb6
Pin3EE  Pin7EE 8 A 30 2 PVC 24 05 FK8-05 43-02823
Pin4[] PinglM
Female connector, PG9 thread
M12x1 Pin 1
] Pin 2] SAL-FB-12-
a — 4 A 250 4 PVC 24 05 FK4-0,5-9 43-01103
) Pin 4 N
Width across ——__| & o
flats 17 3
CrrrTrr) S
Sealing Pin 1
Pin 21 SAL-FB-12-
Pin 3 I 5 A 60 4 PVC 24 05 FK5-059 43-01105
Pin 4 N
i Pin5H
4 (}
Pin 1] Pin5 W SAL-FB-12-
Pin2 M Pin6
e Pin 3 Pin 7 8 A 30 2 PVC 24 05 FK8-059 43-02452
Pin4[] PinglM
Male connector, M16x1.5 thread
. En ;; SAL-FB-12-
12x1 n
Pin 3 W 4 A 250 4 PVC 24 05 FS4-05 43-01020
— Pin 4 N
Width across \Q‘H .
flats 17 -
I Pin 1
Crrsrr) 1 Pin 2 ) SAL-FB-12-
Sea\ing—/é‘__l Pin 3 H 5 A 60 4 PVC 24 05 FS5-05 43-01021
Pin 4 N
Pin5 M
- Pin 1] Pin5 WM SAL-FB-12-
Pin2 M Pin6
L PinImE  Fin7 8 A 30 2 PVC 24 05 FS80,5 43-01233
N16x1,5 Pin4J] Ping M
Male connector, PG9 thread
I:n ;; SAL-FB-12-
M12x1 n
x Pin 3 W 4 A 250 4 PVC 24 05 FS4-0,5-9 43-01106
—x Pin 4 N
Width across J\G‘H .
flats 17 -
3 Pin 1
() 4 S i SALFB-12-
Sea”ng/"HﬂE) Pin 3 5 A 60 4 PVC 24 05 FS5-05-9 43-01108
Pin 4 N
Pin 5
- Pin 1] Pin 5 W SAL-FB-12-
Pin2 MM Pin6
Pin3EE  Pin7EE 8 A 30 2 PVC 24 05 FsS8-0,59 43-02822
PGo Pin4] PinglM

Technical information starting on page 348 CONEC® 233



M12x1 F&B SockeTs

—
€
=
~ T T
; ) o g =< § =
Back panel mounting, wire termination S g 23 § o
5 £33 3%
o I ™ s} 8 g
) & - R X S
S £ w S E & &
Es § S5 g
Female connector, PG9 thread Contact assignment = S & S = = = Description Part No.
Pin 1 SAL-FB-12-
M12x1 : o
— i 4 A 250 4 PVC 24 05 FKH4-05-9 4302328
. T Pin 4 I
Width across flats 19
@ wn
ﬁ_/ \_W | ® pn |- SALFB-12
Sealing Pin 2] SR
\I L | " Pin 3 5 A 60 4 PVC 24 05 FKH5-059 43-02329
Pin 4 N
Pin5 M
Pin 1] Pin 5 SAL-FB-12-
Pin 2 Pin 6
Pin 3 B Pin 7 8 A 30 2 PVC 24 05 FKH8-05-9 43-02330
PG9 Pin 41 Pin 8 I
Male connector, PG9 thread
M12x1 Pin 1 SAL-FB-12-
Pin2[1
Pin 3 4 A 250 4 PVC 24 05 FSH4-0,5-9 43-02331
’ ﬁlﬁ Pin 4
Width across
flats 19 @ [y
8 Pin 1 I
Sealing j_ﬁ .
\|| | 1 g::iE 5 A 60 4 PVC 24 05 JAuFBI1Z 43-02332
Pin 4 I " FSH5-0,5-9
Pin5 M
E?n;E E?ng- SAL-FB-12-
n n
e Pin 3 Pin 7 B 8 A 30 2 PVC 24 05 FSH8-0,5-9 43-02333
Pin 4] Pin 8

234 CONEC® Technical information starting on page 348




M12x1 F&B SockeTs

B
£
o o g = T 5
Back panel mounting, dip solder termination S g 2
. S = <
S o 8 & 8
£ § 3t o3
Female connector, PG9 thread 3 N & 3 £ Description Part No.
i SAL-FB-12-
L uLbE 4 A 250 4 55 FKH4-P559 43-01894
Width across
flats 19 \ @
Seali b (|8
e~ Tn |- SALFB-12-
A REEE 5 A 60 4 55 FKH5P559 43-01896
i
0.8 -
016 || SALFB-12-
95 8 A 30 2 55 FKH8-P559 43-02340
PG9
Mi2a SAL-FB-12-
Wicth across 4 A 250 4 12 Ut 43-01895
flats 19 \ @
Sealing \ T 28
T~ 0r1n SALFB-12-
C T 5 A 60 4 12 FKH5-P12:9 43-01897
- Hl”HI
%0.8 T‘ -
1,6 H
a5 SAL-FB-12-
s 8 A 30 2 12 [oouC 43-02341
Male connector, PG9 thread
M12x1
Width across -FB-12-
fota 19 \ﬂ%ﬁ 4 A 250 4 55 AT 43-02334
Sealing o| wu
SAL-FB-12-
T 1 11 y
y ”W 5 A 60 4 55 Loiils 43-02335
o
20,8 ’
p2 |||
Dt SAL-FB-12-
- 8 A 30 2 55 43-02345
PGY FSH8-P5,5-9
M12x1
Width across SAL-FB-12-
flats 19 \ﬂ%ﬁ 4 A 250 4 12 2T 43-02336
Sealing o| wu
SAL-FB-12-
T 1 11 y
y ”W 5 A 60 4 12 ol 43-02337
o
?0,8
D2
| Im SAL-FB-12-
- 8 A 30 2 12 FSH8-P12:9 43-02346
PG9

ApxaHrenbck (8182)63-90-72
AcraHa (7172)727-132
AcTpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropog (4722)40-23-64
BpsiHck (4832)59-03-52
BnapgvBocTok (423)249-28-31
Bonrorpap (844)278-03-48
Bonorpaa (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuH6bypr (343)384-55-89

Mo Bonpocam npoaax v noaaepXk1 obpallantecs:

MBaHoBo (4932)77-34-06
Mxesck (3412)26-03-58
KasaHb (843)206-01-48
KanuHuHrpag (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
Kupos (8332)68-02-04
KpacHopap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04

Jvneuk (4742)52-20-81

MarnuToropck (3519)55-03-13
Mocksa (495)268-04-70
MypmaHck (8152)59-64-93
Hab6epexHble YenHbl (8552)20-53-41
HwxHuin Hosropop (831)429-08-12
HoBoky3HeLk (3843)20-46-81
HoBocubupck (383)227-86-73
Owmck (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04

MeH3a (8412)22-31-16

Mepmb (342)205-81-47
PoctoB-Ha-[loHy (863)308-18-15
PssaHb (4912)46-61-64

Camapa (846)206-03-16
CaHkT-MeTepbypr (812)309-46-40
CapatosB (845)249-38-78
CesacTononb (8692)22-31-93
Cumdpeponons (3652)67-13-56
CmoneHck (4812)29-41-54

Coum (862)225-72-31
Craspononb (8652)20-65-13

EnuHbin agpec: ccn@nt-rt.ru | http://www.conec.nt-rt.ru

CypryT (3462)77-98-35
Teepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbsiHOBCK (8422)24-23-59
Yda (347)229-48-12
Xabaposck (4212)92-98-04
YensbuHck (351)202-03-61
Yepenosel (8202)49-02-64
Apocnasnsb (4852)69-52-93



